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%2 1(b)B & SR A XABRETIRIZ- K BEIET 4

B | FoiiEE | % & | mrmmms
BESFIR (kph) ( pew/km/In ) N ( pew/hr/In )

A u >85 k<10 ~0.35 850

B 852 1 >72 10=k<18 | 035~0.54 1,300

E 7224 >60 | 18<k<31 | 0.54~0.77 1,850

D 60= 1 >51 | 31<k<43 | 0.77~093 2,200

E S1=p >46 | 43=k<52 | 0.93~1.00 2,400

F u 46 k=52 - —

(BRI « [3])
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AASHTO provided 10 different vehicle
classifications for design purpose

<+ Passenger car, P (-]- 3] &)
<+ Single-unit truck, SU (B $& f 2 )
< Single-unit bus, BUS (¥ §F = &)

« Articulated bus, A-BUS (& &" ;\ )

« Intermediate semitrailer, WB-40 (& ¥ & )

«» Large semitrailer, WB-50 (+ #| X ¥ 2 )

< Double-bottom semitrailer-full trailer, WB-60 (23 2 )
< Motor home, MH

« Car and camper trailer, P/T

« Car and boat trailer, P/B
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SU

BUS

5.8 m (19)

9.1 m (30)

12.2 m (40°)

21m (7°)

2.6 m (8.5)

2.6 m (8.5)

1.3 m (4.25)

4.1m (135"

4.1m (13.5°)

T

0.9 m (3")

1.2m (4°)

21m (7")

Iy

15m (5°)

1.8 m (67)

2.4m (8%)

PhiE

3.4m (11°)

6.1 m (20)

7.6 m (25)

b E B L
1=(rl)

7.3 m

12.8 m

12.8 m

ORER 5 T o
1=(r2)

47 m

8.7m

7.1m
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WB-40

WB-50

WB-60

15.2 m (50°)

16.8 m (55’)

19.8 m (65°)

2.6 m (8.5

2.6 m (8.5

2.6 m (8.5

4.1m (13.5")

4.1m (13.5")

4.1m (13.5)

1.2 m (4°)

0.9 m (3")

0.6 m (2%)

1.8 m (6°)

0.6 m (2%)

0.9 m (3")

(4.0+48.2) m
(13+27)’

(6.1+9.1) m
(20+30)’

(3.0+6.1+6.4)m
(9.7+20+20.9)’

12.2 m

13.7m

13.7m

6.1 m

6.0 m

6.9 m




Based on the size of “design vehicle” to
determine

« Lane width

« Shoulder width

+ Length and width of parking bays
+ Lengths of vertical curves

The axle weights of “design vehicle” will
Influence

« Pavement depth
<« Maximum grades
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P

5.8

2.1

1.3

0.9

SU

9.1

2.6

4.1

1.2

BUS

2.6

4.1

2:1

A-BUS

28

3.2

2.6

WB-12

2.6

4.1

1.2

paeiile i

WB-15

2.0

4.1

0.9

ZhfifG

WB-18

2.6

4.1

0.6

(FRIZRIR : [14])
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% 8-4 HRHEGTHEA 2SR (B :m)

f o8 FhA R AR/ Ay A /]
o EELK e R

13 4.7

12.8 8.7

12.8 ]

11.6 6.4

12,2 6.1

REVGRFHEE 13.7 6.0

ZHFEE 13.7 6.9
(BRI : [14])
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- ;{ﬁ_,&E’(Sight Distance) z #
LRl 1 F’ ,Fl,m}il?’%a‘. H &
Z >EEIEFIRL

At
S ELEZ SR RARDNB R ES,
B R U S - R
= &8 72 FE(Stopping Sight Distance, SSD)
= ¥ 7 32 fF(Passing Sight Distance, PSD)
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BB R B RPFBFFRK G
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B zaﬁE(Minimum Stopping sight Distance)
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1.p ¥ ABsed 3 400 B4 »22 jEdf

= d
"0 o d) FRBEKDE F RIER M
t Zinaricd F R > sec
V ,—a.f‘fﬁ # X > m/sec

\V4

Ak LT H R )@%F'*(Perceptlon and Break
Reaction Time)# (72 & & » ¥ %ﬁ-:—» s
T8 F RIEHR o AASHTOZE R ik - pF > i
B AP FOEPE R K L5 2.55€C

= vt = 0.2/7/8Vt
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- d = V2 . V2
b 2gf 254f

¥ O WZ2RET
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(kph)

T

(kph)

AN B H4 B I e

(5315

(sec)

(m)

f

H FE #

ATEE
(m)

aaTfH
(m)

20.8
26.4~27.8
31.3~34.7
36.1~41.7
38.9~48.6
48.6~55.9
58.6~69.5
65.3~83.4

8.9
15.0~ 16.6
222~ 273
31.3~ 41.9
39.8~ 62.2
62.2~ 84.7
95.8~135.8
124.2~202.5

29.7
414~ 44.4
53.5~ 62.0
67.4~ 83.6
78.7~110.8
110.8~140.6
154.4~205.3
189.5~285.9

40
45
55~ 65
70~ 85
80~115
115~145
160~210
190~290
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Example: Determine the minimum stopping sight
distance on a -3.5% grade at a design speed of 110 km/h

SSD =d, +d,
d, =76.39 m

d, = 194.44 m
SSD = 270.89 m
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4. R D EAR2 A4 5 1t F B 4(Delayed
Start) » 2R84k > d 2 HFHRAX A
L TRdte kB TEBEF LB o 4
% 2B g2 o Kol Az B e
16.1kph(10mph) -
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B2 FivadFif g e o




. =0.278t,(V — AV +—1)

= NP Lt EABETHLEFR ) sec
_\,: P £ 2 22 T 124 ,
Viksdfmazdiyg2 TioiR ¥ kph
@ %

\ W4

AV itz ? fmerigd 2

73:. ’
AV=16.1kph(10mph) e
a s Ti=4eig B > kph/sec

t,2. 2% 23.6~4.52 &
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d,: 422 & gmib* L2 8 3f *7{7 5 2 JEAE
d,=0.278Vt,
s XV L Vidgd Bmikr L8 2 Tiog
F » kph
LRI BRET 222 TR >
H &% %9.3~10.4secz ¥
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22 X HEEFA B o
#48~64kphpF » d; 5 33m ; 3&3’
2 96~112kphp# > d4 % 90m s

ld3 g};&
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dy ' 2 BERIPTFHD KB TR
B3 d, 5 %5 (2/3)d,
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et sRas

(kph )

BB 1R
B #H 2R
( kph )

{ERE%tdE |
R ZR
(kph)

Bx A 8 B ARER

(m)

30
40
50
60
70
30

30
35
43
50
A
66
EF
92

46
51
59
66
73
82
93




